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If Nishtha has 1080 liter mixture of milk and water in the ratio of 5:4 respectively. If 90 

liters of this mixture is taken out from the container and is replaced with ( x + 5 ) liters 

of pure milk such that the ratio of milk to water in the container becomes 3:2 

respectively, then find the value of x ?

1. 210 liters
2. 125 liters
3. 105 liters
4. 50 liters
5. NOT

यदि निष्ठा के पास िधू और पािी का 1080 लीटर निश्रण 
क्रिशः 5:4 के अिुपात िें है। यदि इस निश्रण का 90 
लीटर बतति से निकाला जाता है और (x + 5) लीटर शुद्ध 
िधू से प्रनतस्थापपत दकया जाता है तादक कंटेिर िें िधू 
और पािी का अिुपात क्रिशः 3:2 हो जाए, तो x का िाि 
ज्ञात कीजजये?



3150, 900, 360, 450, 480.

Wrong term of the series is A then which statement is false about A/15?

I: It is a perfect square.

II: The difference between the digits is divisible by 5.

III: Sum of its digits is less than 5.

1. Only III
2. Only II
3. Only I
4. All I, II and IIII
5. Both I and II

3150, 900, 360, 450, 480. श्रृंखला का गलत पद A है तो A/15 
के बारे में कौन सा कथन असत्य है? 
I: यह एक आदर्श वगश है। 
II: अृंकों के बीच का अृंतर 5 से ववभाज्य है। 
III: इसके अृंकों का योग 5 से कम है।



Based on the given information, you have to determine the relation among the three 

quantities.

A. <        B. >         C. ≤ D. ≥ E. =

Quantity 1: Find the missing term.

19, 20, ?, 129, 520

Quantity 2: Find out the wrong number.

22, 24, 32, 72, 167, 511

Quantity 3: Find the missing term.

125, 63, ?, 130, 524 1. A B
2. B C
3. C A
4. D A
5. NOT



Directions: In the given series A, B, C, D are positive integers that are given in terms of 
x, y and z which are also positive integers.

A, B, C, D,?

Set - 1.

x = HCF (9, 15)

y2 + 5y – 84 = 0 (positive root)

z = 2y + x

Set - 2.

A = x2 + xy + z

B = x3 + xy + z – 5

C = x2y + z + 2x

D = xy2 – z – 5 

What will come in the place of '?'

1. 136
2. 177
3. 184
4. 229
5. 333



'A' who can complete a work in 24 days is 25% less efficient than 'B'. 'A' and 'B' worked 

alternatively for 12 days and then 'A' left. The remaining work is completed by 'B' along 

with 'C' whose efficiency is x units/days in 5 days. The number of days taken by C to 

complete the whole work can be :

(I) (24x - 12) days

(II) (x6 - 14x) days

(III) (5x2 + 6x + 4) days

1. Only II
2. Only II and Only III
3. Only I and Only III
4. Only II and Only I
5. All I, II and III

'A' जो एक कायत को 24 दििों िें पूरा कर सकता है, 
वह 'B' की तुलिा िें 25% कि कुशल है. 'A' और 'B' 
िे वैकजपपक रूप से 12 दििों तक कायत दकया और 
दिर 'A' िे कायत छोड़ दिया। शेष कायत 'C' के साथ 'B' 
द्वारा पूरा दकया जाता है जजसकी िक्षता 5 दििों िें x 
यूनिट/दिि है। पूरे कायत को पूरा करिे िें C द्वारा 
नलए गए दििों की संख्या हो सकती है: (I) (24x - 12) 
दिि (II) (x6 - 14x) दिि (III) (5x2 + 6x + 4) दिि



The following series follows a certain pattern. Find which of the following statement is 

correct.

20, (a), (b), (c), 80, ?

a - b = (x + 1)2 - y

a + b = (y - 4)2 - 8x

c + a - b = (y - 2x - 3)2 - (x + 2)2

x = H.C.F of two consecutive odd numbers

y = L.C.M of three consecutive smallest positive even numbers.

1. Value of x = 0
2. Value of y = 24
3. value of a = 30
4. Value of b = 36
5. Value of c = 48



Equation (i) : k × (6x2 + 3) + rx + (2x2 - 1) = 0

Equation (ii) : 6k × (2x2 + 1) + px + (4x2 - 2) = 0

If both the roots of equation (i) and equation (ii) are common then (2r - p) is equal to

1. -1
2. 0
3. 1
4. 2
5. -2



Marked price of an article is 20% more than the cost price. A shopkeeper allows X% 

discount and earns___ % profit, if the shopkeeper allows 2X% discount he earns ___ % 

profit.

Which of the following options satisfies the two blanks in the question?

1. Only A
2. Only B
3. Both A and B
4. Both B and C
5. Both D and E

14, 8
17, 14
10, 4
12, 8
16, 4

एक वस्तु का अंदकत िूपय क्रय िूपय से 20% अनधक है. 
एक िकुाििार X% छूट और earns___% लाभ िेता है, यदि
िकुाििार 2X% छूट िेता है तो वह ___ % लाभ अजजतत करता 
है. निम्िनलजित िें से कौि सा पवकपप प्रश्न िें दिए गए िो 
ररक्त स्थािों को संतुष्ट करता है?



Below given a series I which contains a wrong number. Find the wrong term and form a 

series II that will start with twice of the wrong term of series I. Both of the series follow 

the same logic.

Series I: 220, 205, 180, 164, 134, 95, 45

What is the sum of the last term of series I and 6th term of series II?

1. 250
2. 280
3. 320
4. 350
5. 380


